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Reg. No.

III Semester B. Com Degree Examination, March/Aprll 2021

- COMMERCE
: Financial Management
(CBCS Scheme Repeatei's)
- Paper : 3.4

Time : 3 Hours | ~ - - . Maximum Marks : 70

Answer any Five sub-questions each answer carries 2 marks. o (5x2=10)

Instructions to Candidates:

Answer should be Coxnpletely in English or Kannada |

SECTION A
: :-szari - a .
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1. a)

d)

8

- What is meant by financial mix ?-
| BoBkS 0B F0ESER 7
b)

Name two principles of _ﬁnancial plan.
BEOTOLT OXRERFON. VR, SRy BIOY
What is profit maximisation ? "

ootIE oAEETE WoTdeRd 9

Name four sources of working capital.
SN 52037V 0BT m@mﬁm BIOR.

-~ What is investment desition ?

TRRT IPIFT 0BT ?

) Sales <= 500,000 contribution I.= 300, OOO “Calculate Variable cost
Bnooes T= 500,000, gew0 T.=300,000 BN dzs B0ROBROD.

One investment of the project is ?'——20 000 salvage value is 15% and its

additional workmg capxtal is ¥.=2,000. Calculate average 1nvestment

| cldpensol @ers 720,000 eNm, GET Gved SPe, Je. 15% wim SHEO

Fo0FATI Loy X.=2,000 ﬁ@m@ﬁ pSteprite} ma'c’ojaai) 6063380@0&36
| | -  [P.T.O.
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- Answer any Three questions, each answer carries 6 marks. - (3%6=18)
' ojsa@csaddm Bowdd BIROR 0N, W[ GUBTE 6 OB, -
2. What are the different investment evaluation'methods ?
L Bkt IPOE0H IRRT AFATIY SR o
3. ' What do you mean by bonus shares ? State the advantages of bonus shares
23ReST ReTonEd DOTTEI 7 LN SBHONIY, 89R.
4. No. of units 500 selling price I=40 P.V. variable cost =15 PV and leed cost ?—4000
- Interest ¥.2500. Calculate ﬁnanc1al lavarage. .
- - Operating levarage.
. Ene ~o<93 500 waooés B33 =40 2,000 wm@ wwmmw dzs ? 15 uodo Pe3e
AT =%, =\’-—4000 0@, .2500 Brovors OSers’ 5065380@06336
R sao:barzsosa @58@39 '
-5, . Project requires %.75,000 lmtlal investment for payable of an equlpment Its annual '
_ income before tax and depreciation is estimated. Tax Rate 20% ' ‘

Ist year $=25,000 ~  ~  3rdyear%. =45000
2nd year T=35,000 - 4th year T=55000-
Calculate present value if discount factor @9% is as follows

* Year o1 2 3 4 ~ ’

DF@9%% 0917 0.841 0.712 .708 - T
2,00 cdpesod ©,00%8 .75,000 6N B meusosoocs st wse; > ork -
'5@30333@:3&03 BRWEO B8 08 QBT Lo
Beoose m: 3=25,000 - moée mmr ?—45000
- QOESse w&F 3.35,000 .  DYSe TR 'i’-«SSOOO .
. 3oR Se3@ 20%
Calculate present value if discount -factor @9% is as follows
- Year: 1 2 3 4
: DF@9% 0917 0841 0712 708 ,
6. The followmg data selects to EM Co and ES- Co. -
© Particulars- _ - EM : ES .
5% debentures © 20000 - -
* Equity share ¢apital '
" (Shares of .10 each) 250,000 250,000
ROI g 60,000 65,000
- Calculate E.P.S. of both compames o |
 EM %@ 3y ES 30T0 Tnkd 35 0ed 9%y
 owmg | - EM BS
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5% mo Fgneo 20000 DR

- Ry D> WO e
(@eE®I0) 250,000 250,000
‘Znat s oo (ROD) 60,000 65,000

| g8 dos oous (EPS) domdkRen0.

SECTION - C
Cdyent - A

'"‘_'Answer any Three questrons each answer cames 14 marks. } - (3x14=42)

@mcsdxa m& wéﬁepﬁ emeea 8 emedz? 14 eoeﬁe;o

. Explain various forms of dlvrdend
DG CRTT oamoaﬁeéa“n DWOR. .

_ ‘jBrleﬂy explam the mternal and external factors- 1nﬂuenc1ng capitla structure

'uocamsf Sedsody e ToTERD ©9e8R 30308 55333 RAp::S eﬂosmfso No%wmh DSORD.

The. capltal structure of the Quarantine -Co Ltd cons1sts of an equlty share capital of
'%=10,00,000 (shares of T=10 per share) and ¥=10,00, 000, 5% debenture sales increased

, by 25% term 200, 000 units to 250,000 units. Selling price is T.=10 per umt vanable '
- cost . =6 per.unit and fixed cost amounts . —250 000 mcome tax rate is 30%.
" You are required to calculate. o

1. The degree of financial leverage 200 000 units and 250, 000 unlts

2. The degree of operating leverage 200,000 units and 250, 000 units. :
i@désa‘ Bom wommey 10,00, 000 (%8 RedI B3S Z.10) =08y .10,00,000, 5%

- .rwwe o, BROGES Fed® 25% Oy, BRI, @orid 200, 000 usrios 250,000

 pusron £08 BRo 6 10 pu BT 4,36 pu 40 583, 3250,000 STl

: ‘_:9’67‘{ 38R 30% eocsaaoaom

1 Semas Osdes 200,000 w&sﬁﬁ@ﬁ 250,000 B

2 E'e)oims'zsdee @58@&‘ 200 000 wé&iﬁ@ﬁ 250, 000 wasaﬁe:iﬁ

Co—vaccme company is cons1der1ng the purchase of machme The machme X and Y

" each consting. R. ~4OO 000 are avallable Eammgs after X and deprec1at10n is estlmated -
o as follows. |

Y Year X Y DF@IS%

PR S 115,000 105,000 © 0869

S22 120,000 115,000 - = 0756

3 125,000 - 120,000 . 0.657

4 - 115000 130,000 0.572
5

110,000 - 120,000 - 0.497 |
e [PTO.
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11.

" Evaluate the projects '('1) pay back period mathod (2) Net present value

Co-vaccine co. 2,080 0303333 DOATLD DFFOAT), SV TREO GO, VPR
B3 obozg,3 WS T=400,000 éa 003,003 T3 EszF' Re389 w08 30K F0B3 Bs Oed

- e3z5003) @oma’w@aﬁcﬁ

SRE b0z X ooz Y o 3@3 o8 15%

1 115,000 105,000 0.869
2 120,000 115,000 0.756
3 125000 120,000 0.657

4 115,000 - 130,000 0.572 -
5 110,000 120,000 0.497 -

o3 ey TPOEE0n. (1) bowss ©IO IR (2) Ry B2 P

' Nova Ltd Company ‘has equ1ty share capital of %.100, 000 d1v1ded into 100 each. It

wishes to raise further .60,000 for expansion plans. The company has following
financial schemes. : :

(a) All Equity shares

(b) 50% equity shares balance 10% debentures

(c) - ? 20,000 equity shares balance 10% debentures

- The company has estimate EBIT of %.=30,000. The corporate tax is 5()%

Calculate EPS is each case, give a comment.

3P0 OQOEIE® FoTIOD RO, Redh worms . 100 3R. R0D. 3o T.100,000

ﬁ%ﬁd)éd FOTVOID 33 DFTH oﬂmeuz&mﬁ <.60,000 mssa ézs,oen fazsnoéd eﬁm 33
%@ﬁocgoé DTS wdéOﬁDEfD O3RCTAT. ’
(@) QP *?am:s ?Sedam?ocs

A' (b) 3Bes@ 50% wozse'saeé AOBRTY,  HeONPOT eme:)cj =p2 10% Do w3 neos

() .20, 000 ROBI, wedm@od v BR3 10% ROOTZ, NPOT
30m03 EBIT Z.=30, 000 B0 30n Je. 50%
BJWT @& NedI ﬁ@%o:om e%mz% B oo woc:%meé daﬁz& memﬁd 3%




